wmies p | BEE/RERL/REREF

[ O#m@eD | - \9"31’31%\ . BERS:
. FFMCN4 = B iER RO~ 0EFRSMSHRHITITE. Q
#®FE) FFMUNG ]
W RRBUE STk FFMCN %D ° = glé:l? ~ OLrmER| A B L iﬁEHﬂEE M"EIMRT." ﬁﬁfﬂ%ﬂ %%
=== M3 2.5 | 151 6| 8 M3X0.5 09 2.4
_l._. P P 4 M5 3 156 ’ M5 0.8 38 3.2
I m: FFMCN 1 8 T 116 | 10 | Ri8 6.4 6.6
M M5 3 | 17 | 14 M5X08 | 3.6 45
R 6 10
WM AR RES) 1 8 | 176 | 136 R1/8 6.3 6
. 3] 1 =
| Besrsidlsbay=:E:- 58 FFMCNPI— — im% oD O mER| A B L i‘mHl'Eﬁ P EQMRTT ﬁ%ﬁiﬂﬁ %%
ob M3 |25 |151[126( 15| 8 |M3X05| 18 22
P éﬁ FEMCNP | 2 M5 3 [156(126| 25| 8 | M5X038 5.1 3
L ‘ i e N D] 1 8 |158(11.8| 3 | 10 | R 7.4 62
H < o L
! M, ﬁﬁw . M5 3 |175(145| 25 | 10 | M5X08 | 52 44
- iy e B —— 1 8 [17.9]139| 4 |10 | RiB 13 |56
oy N B - R .
W iR FFMCNL = X o0 [O4FEE| A |B | L (P E AL R L
O His) M3 |25 14 [155 g |M3x05| 13 |3
- o 4 M5 | 3 |14 |145| 8 |15.1 M5X08| 22 |34
M “’dﬂ FEMCNL 1 8 | 16|16 10| RUB | 48 |62
- . M5 | 3 |145|168 8 |M5x08| 35 |41
HE BT 6 105| 16
BLTED: E(TRMREE) 1 8 |17 (183 10 R1/8 8.5 6
W XRRFEE BS TR 8
e FFMUN B 8 O/ 8B 0D B P e i ©
|
5 4 27 8 5.4 2
FFMUN
o 6 24.4 10.4 1 31
R PBT
W R E T sk E BS P E E 2
FFMCLYL | oR®m | @D ©

7

T
i uwle 4 8 13.1 48 23
| \@32 FFMCLYL
F
2—@D 6 10.5 15 9 3.6

L

#E  PBT
W pk(RESTIESL E E BE =
FFMCLYT ‘ ok @ @D B P E F1 F2 )
o
_ | & c'o]
@® 4 131 8 13.1 1.2 5.6 ES)
2—¢32
—=;_ap FFMCLYT
F1 6 15 10.5 14.95 13.2 6.6 53
#E PBT
HARE YL J Bs HYEER | B8
FFMUNY ofm ool & | P | | F A B
‘r(\‘ - 4 27.6 8 8 12.6 23 3.4
3_P£ 3.2
H FFMUNY
3—@D 6 31 105 10.5 14 6.8 515}
#E PBT
WK
& AR =5
Emmlﬁ BE * 0~60°C
BIERAESN 1MPa
EFHEEEJ‘J —100kPa




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21

